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e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.
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30 5l H 377/

(vii) YFT 37 & J97 &1 7 & 18 & o7 diH-al4 37H & & | 599 I T
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(viil) 97T 37 & Y97 &I 19 T 24 3 F¥7 Gie-qid 37H & 5 | 7% IH TTHT
70 3551 H 37 7/

(ix) YT § & 597 &1 25 & 33 & Y7 JAVIIcHS B9 R SATIRG Fglahed] Jo7
g | yrd% 97 Uk 3% HT 8 | 130 WY WK faheql § @ 3719 dacT Th T
ITTH [dHY AT & |

(x) YT § & J97 G&IT 34 T 36 F I JANTIcHE HITT T FTERA q1-3T bl &
Y978 | 59 IR GRIg 7 37 8 /

General Instructions :

(i) The question paper comprises two sections, A and B. You are to attempt
both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one mark questions. These are
to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.
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(vii) Question numbers 7 to 18 in Section A are three marks questions. These
are to be answered in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks questions based on
practical skills. These are to be answered in brief.

T A
SECTION A

1. 38 ¥fshan o1 9W faRaw freh g stEqed a@meti i dqed agreti # gRafad
ERISIGIEN 1

Name the process by which unsaturated fats are changed to saturated
fats.

2.  “HIATR” T & e UMV] AT SHehT 3TcifiTeh ST <h Tafer w1 9 ferfigw | 1

Name the causative agent of the disease “Kala-azar” and its mode of

asexual reproduction.

3. Tfafaa Sfia #13 AR J@a 59 8 | 30 | e Sia 1§ sra-feienla
TR Shi TaTTeeh Figar gF1 ? SHE TFAf-od qigedT i 9 i foifaw |
shie, ST, 919, 99, e | 1
The following organisms form a food chain. Which of these will have the

highest concentration of non-biodegradable chemicals ? Name the
phenomenon associated with it.

Insects, Hawk, Grass, Snake, Frog.

4. R Tewfeurd @I wdfld Bid & 2 ¥ iR | 2
Why do stars appear to twinkle ? Explain.
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5. IO ! 99 % U 9 TR % ‘R’ (3-R’s) @ =T a9 & ? 3e8W0N 9fed
Wy KIS for qafaror st 999 & g 39 o1 faeme™m 5 39 TH-R &1 e
forE TehR R | 2

What is meant by three types of ‘R’ (3-R’s) to save the environment ?
Explain with examples how would you follow the 3-R’s in your school to
save the environment.

6. Ak W T % €9 H G o IR AN hl FA ST | 2

List four advantages of water stored in the ground as “ground water”.

7. Tmlafga Al & e g3 fafgy 3R A soiage-fag ST

I 3
i) ™

(i) =

(iii) T

Write the molecular formula of the following compounds and draw their
electron-dot structures :

(1) Ethane
(11) Ethene
(iii) Ethyne

8. % JAMh % FhEIcHS g § F91 a0 & ? FHHfaigd AR

GLIATCHS HF 3T Ik ThTATCH FHg i dTfeiehl o &9 H Al : 3
(i) T
(i)  UAATSH A

What is meant by functional group in carbon compounds ? Write in
tabular form the structural formula and the functional group present in
the following compounds :

(1) Ethanol
(11) Ethanoic acid

9. Tl o RN Bl YW I3 fAfeq | qeell o IW IMERYA [UEH HT AW
fofae foeeht 3w onyfe 3Ted anvlt i foehfad & | foham T 7 |
agfes Tad W SarEy | g 3Ted areft % S| W H 19 dTge,
39T 3R AU I T ? 3
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Write the main aim of classifying elements. Name the basic property of
elements used in the development of Modern Periodic Table. State the
Modern Periodic Law. On which side (part) of the Modern Periodic Table
do you find metals, metalloids and non-metals ?

10. foreft T X’ ST WRHTY] TS 20 7 | 3
(i) o= X & Aad gnelt o feafa feifa i |
(i) = X 6 Y (WA A 8) W AMTh/aaT gy s+ At
3 Tt |
(iii) g@jﬁﬁﬁﬁﬁ@ﬁ%&ﬁﬁﬁﬁ&%%ﬁa?mwsﬁgﬁz
|

The atomic number of an element X’ is 20.

1) Determine the position of the element X’ in the periodic table.

(i) Write the formula of the compound formed when X
reacts/combines with another element Y’ (atomic number 8).

(iii) What would be the nature (acidic or basic) of the compound
formed ? Justify your answer.

11. 3Tifeh A 3R oifiieh S99 & off9 & yg@ o foaflew | <iffes s &
I AT IAREh T4 H et TS § § former g SIta Tfief i
SALSTAr & TU&hd 3R AT 3T=8 TAM & Fohd & ? 39 I hl gE
I | 3

Write one main difference between asexual and sexual mode of
reproduction. Which species is likely to have comparatively better
chances of survival — the one reproducing asexually or the one
reproducing sexually ? Justify your answer.

12. R H GA%GHEH (THSIAA) ohl Tfshal i TIF hiVT | I8 Wik 59 & frE
TR T 3 2 3

Explain the process of regeneration in Planaria. How is this process
different from reproduction ?

13. TAU AT 8 ? HHGET H 39k 1A hl SATEAT <hIMT | 3

What is placenta ? Explain its function in humans.

14,  “foreft et o TT9) <1 X 312r@T HIGT BT O HAM B |7 Uk YATg NG Wiast
39 oA HI gy HIfw | 3

“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.
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15. ‘U1 wvd g o6 I A& SR @ 81 ST Ueg o<k A & 9T |7 39 e
g8 T IUYh SCTEWT ¢oht I | 3

“It is possible that a trait is inherited but may not be expressed.” Give a
suitable example to justify this statement.

16. T=fafgd ys gt § wafda forwor 1 9 o4 & fou e fopor s
Hifaw | yeprer Y s foptor foret 3aat g & 3
(a) ¢gd W U % JE&I & § IV 0 T ATARIA 2 |
(b) &I BihH i 3R fEha 7 |

(c) &I 18 o THTH 7 |
Draw a ray diagram to show the path of the reflected ray in each of the
following cases. A ray of light incident on a convex mirror

(a)  strikes at its pole making an angle 6 from the principal axis.
(b)  is directed towards its principal focus.
(c) is parallel to its principal axis.
17. AW ey qun faafea gaied @ o1 aed g ? 39 qREersT i JTifhd
M@ Tiaet T8 HIfT | 3

What is meant by advance sunrise and delayed sunset ? Draw a labelled
diagram to explain these phenomena.

18. WM 1 B ? Ig d1gHvSA # fohE TR 3TN el sdl 8 2 Ty Hife f 18
fepeft aTftas w1 ford SRR JTferd ohtelt & | 3

What is ozone ? How and where is it formed in the atmosphere ? Explain
how does it affect an ecosystem.

19. IS s s9H At qTd AU GASThAT DI F SAFA I ik 31qdT
3Th1 BIH Hleh IchB 0 FAdgieh fo=amd U d & | R0 od FL T
SHIfT foh HreiA 79 ANfireni o Fmior 30 yR &1 fa=mg 3@ fafa @ =i T
Ted L Gehdl | AMh Al § a9 el ey AR HreA AFehl & a4
MY o YW o A1 fafaw | R dfga a8 oft Ty v T e A
rTa: Toeq < T w1 gid & | 5
Elements forming ionic compounds attain noble gas electronic
configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by

carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.
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20. (a) feuwww sm@# A, B, C 3 D sl qg=nu 3 39 9m fafgu |

(b) YT Toh8 Hhgd & ? SHh Hewd THesy |
(c) godt ® fa=m <t ufshan wwemsT | g9 % 3W wm w1 A fofEge S

= & gvEmq
() oS A forfad g 2,
(i) % H fGwfyd g St g | 5

(a) Identify A, B, C and D in the given diagram and write their names.

(b)  What is pollination ? Explain its significance.

(c) Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into

(1) seed,
(1)  fruit.
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21, Wd-3g9d 9T g ? SIf-3¢Ha H HERe FR Hhehi hl FaT SHIEY | $1 HIHI §
¥ A o sl % fgl % A1id-Sgud B Yg@ PR AE &l
FehdT ? TIY HINT | 5

What is speciation ? List four factors that could lead to speciation. Which
of these cannot be a major factor in the speciation of a self-pollinating
plant species ? Explain.

22, IS B add YU g0 HIHST] ohl SaTAT shl AfdfeFa 3ad Ue W Hiehdd ohidl
7 | gitfedfa = fdu e STgEr ® 5

STl T AT = 1-5 em

E&W‘qﬁmﬁzmcm

Wﬁ?&ﬂﬁ@:lScm
Ife ST U o &I A o ATHdd 7, Al HEAIRId T Tiehe shifolT
(a) uﬁrﬁwaﬁm‘mﬁaﬁ

oo

(b) Ufdfees A1 g

afg Saren 6 U | g 10 em & M, A 9E W &A1 @ M 2 I W
%1 gft 3m wfifeafs & foe foror sma diess i |

A student has focused the image of a candle flame on a white screen
using a concave mirror. The situation is as given below :

Length of the flame = 1-5 cm
Focal length of the mirror = 12 cm
Distance of flame from the mirror = 18 cm
If the flame is perpendicular to the principal axis of the mirror, then
calculate the following :
(a)  Distance of the image from the mirror
(b)  Length of the image

If the distance between the mirror and the flame is reduced to 10 cm,
then what would be observed on the screen ? Draw ray diagram to justify
your answer for this situation.

31/2/1 8
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

23. forlt ol St emar @ w0 a8 2 ST ©H.STE. (S.I.) ATk = g ? fohd
YehT & T I Tl EFTCHD Bt 8§ 2
+is o forl fora o1 arEafass, St 3 THH 3MHR (\T3H) 1 Afdfera o F
Y 40 cm g W ST & | o 3 Tl I & a1 8 ? U I A g 5
fore fertor smg difem | 5

What is meant by the power of a lens ? What is its S.I. unit ? Name the
type of lens whose power is positive.

The image of an object formed by a lens is real, inverted and of the same
size as the object. If the image is at a distance of 40 cm from the lens,
what is the nature and power of the lens ? Draw ray diagram to justify
your answer.

24, THE 97 & ARG Iedsh Wt 1 S faRae 5
(i) i
(i)  gRdTiE
(iii) ~ gdelt
(iv) e

forerrasiiar 23 & U<l safts wifdan sfuar 9 difsd 2 | 38 U0 sl J9eE g
TTCd i1 o TN & 3ieh ohIT ST Hehal & | STTehT oo™ 39 429 & &R
H STTEhdl 3099 i AR Jog o I ARN Sl 49¢H o g Ia o &
3T § foame™ R 30 9 H NI Il W1 B | 39 A9 HeuTiedi &
1y fiets 39 qu % § fohg TR ATe o Hehd & 2 formeri gRT 39 yehw
& AT & I & 32T fTafau |

State the function of each of the following parts of the human eye :
(1) Cornea

(i)  Iris

(iii))  Pupil

(iv)  Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea
with the cornea of a donated eye. Your school has organised a campaign
in the school and its neighbourhood in order to create awareness about
this fact and motivate people to donate their eyes after death. How can
you along with your classmates contribute in this noble cause ? State the
objectives of organising such campaigns in schools.
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qd
SECTION B

25. I O UHIEH 37 s Tk g Ul Aol fofemd o W 3R o ara forew™
9 W STl 8 | 98 Ig U0 HaT TR 1
(A) I fIerg v TEF 8 Sar g 3 e fofenw 93 | g qitgds T8
Bra |

(B) A forems g3 e g1 Sran 8 3 fen forend 3 & 81 S1an 2 |

(C) A fIena w3 4 15 ufgdq 981 giar 3R e foend 93 o g1 S
2|

D) Tt foreqw v ¥ w8 ufgdd 781 gar 3 o forens w3 fiem & S
2 |

A student puts a drop of acetic acid first on a blue litmus paper and then
on a red litmus paper. He would observe that

(A) the red litmus paper turns colourless and there is no change in the
blue litmus paper.

(B)  the red litmus paper turns blue and the blue litmus paper turns
red.

(C) there is no change in the red litmus paper and the blue litmus
paper turns red.

(D) there is no change in the blue litmus paper and the red litmus
paper turns blue.

26. AR AMUTGRATAT T ATH Hd T9F BEI gRI A1 I T8 $§ fefomt
BRI R 1
(I) g IR 3Tl 1 90 3 |
(I sAffshan firsror 1 & wepf 2 |
(II) 39 ATSHAT T ST T STEINTIT BT & |
IV) =g 3rffshan Igri-ieor srfifsran 7€ 2 |
T A Tl fewfot e § 2
(A)  had IR III
(B) I, I3 III

(C) 1L, III 3R IV
(D) ohad I3 II
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While studying saponification reactions, the following comments were
noted down by the students :

)] Soap is a salt of fatty acids.

(II)  The reaction mixture is basic in nature.

(III) In this reaction heat is absorbed.

(IV) This reaction is not a neutralisation reaction.
Which of these are the correct comments ?

(A) Iand III only

(B) I,IIandIII

(C) II,III and IV

(D) TIandIIonly

27. I BF IR WEHAGRA I, 11, 111 3R IV §, T § 4 mL 3T o oleht 30
IR a0 - Tl 1 H NaCl, W&Helt 118 CaCly, W&t 111 H MgCl,
3R wEHelt IV H KCl 6 T8 A1 Hieidl 2 | 39 Ivard 98 Yodsh WEqd! d
fqu U A1gq % wia H 8 o5 et wWEEe 6 gl @t 10 SR fEam 7

ol TREHTeTal | HRQL ST & 2 1
A I9ll

(B) II9TIII

C) Ialv

(D) IIdaIV

A student takes 4 mL of distilled water in each of four test tubes I, II, ITI
and IV, and then dissolves an equal amount of four different salts namely
NaCl in I, CaCl,, in II, MgCl,, in III and KCl in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be

formed ?

(A) TandII
(B) II'andIII
(C) TandIV

(D) III and IV
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28.

29.

31/2/1

freh B @ 7T o T & yur o Tl 9T o1 teRE e o fow wgr T |
39 TEIT % STERdeh =X = feu e g 1

(I) " o ol i fogrg Sa # forent v Ta @ o & @i |

D)  ofi <ist sl shifen TR gaeh Tafirer win w1 Jeqor A |

III) T Ut fou1 & P wex & it it |

(IV) Afafes STa @t fepra e | it @t el gt wue & g = U A
= fog W &1 s Y |

3 = T e A §

(A)  IIL LIV, II

(B) IILIV,I,1I

(C) I, 1L1II,1IV

(D) L 1II,1, IV

A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

(D Soak the pea seeds in plain water and keep them overnight.
(II)  Cut open the soaked seed and observe its different parts.
(IIT) Take some pea seeds in a petri dish.

(IV) Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as it is for a day.

The correct sequence of these steps is

A IIL I IV, II

(B) IILIV,I II

(C) IILILIIIV

(D) IILILI IV

fret wem °, BE w fafve Gl % swUlg T U@l % Hee i h
Hieal/AATgSl/E1 ST J&IvT HUAT T | JEU <k qYE SE A qHS SIS
% fefafea a9qg ST | 96 998 & g 1
(A)  ueft qen foaeh & 9@

(B) e 3R TS % U@

() faaeht 3 =wmes & T

(D) T, 9dw@ T fogehelt & 3UTe

12
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In a class, students were asked to observe the models/slides/pictures of
the skeletons of forelimbs and wings of different organisms. After the
observations the students made the following groups of homologous
structures. Select the correct group :

(A)  Wings of a bird and a butterfly
(B)  Wings of a pigeon and a bat
(C)  Wings of a butterfly and a bat

(D)  Forelimbs of a cow, a duck and a lizard

30. Torell ®F A Fadc qUU T SERTITST % ey fa W Tl Hiwech Sl 9T
feur wfdfers v W g fopan | Rierss 4 gqdur K wiekE gl 1 SR sl
fehean A W S W foie 38 A % Tldfera ®l UG W BIhid i hI
germa feam | 3| B I F HET =Y 2 1

(A) U1 ] 4G § G ETHMAT =T |

(B) U i Y& ohl 3TN GhMT 1Y |

(C) edur 3R 98 gHI s g I R FHET =R |
(D) had 9e i & G T AR THMT 91T |

A student obtained on a screen the sharp image of a candle flame placed
at the farther end of laboratory table using a concave mirror. For getting
better value of focal length of the mirror, the teacher suggested to him to
focus the sun. What should the student do ?

(A)  Should move the mirror away from the screen.
(B) Should move the mirror towards the screen.
(C)  Should move the mirror and screen both towards the sun.

(D)  Should move only the screen towards the sun.

31. 3G " <l BiE gl M9iRd d @wa 9 @ g el grew fora o
gfafera U6 W BIhid i I JIH Hd & | U6 W a1 a1l I8 Sfafers,

o & @Ot e BT =fRE 2 1
(A)  Hiur 3R 9gd Bl
(B) Hium 3R w1

(C) 3l 3R &l
(D) 3 3R &7 Bl
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While determining the focal length of a convex lens, you try to focus the
image of a distant object formed by the lens on the screen. The image
formed on the screen, as compared to the object, should be

(A) erect and highly diminished
(B)  erect and enlarged

(C) inverted and enlarged

(D) inverted and highly diminished

32. T h AIARR Tid § T dTelt Thre1 Tohtur 1 9 STqRGd i & forw =

IR T8 =R ITATTeh sTaEeati § 8 Ya9s g€yl hid-81 g 2 1
(A) (B) (®)) (D)

Which of the following is the best experimental set-up out of the four
shown for tracing the path of a ray of light passing through a rectangular
glass slab ?

— NN |

(A) (B) (©) (D)

31/2/1 14
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33. = fdu U IR @t § ¥ fhud wia & 5w 9 e arelt Jehr Rt w1 uy
TE 1 Y A R ? 1

(A) (B)
©) (D)

In which of the following four diagrams is the correct path of a ray of
light passing through a glass prism shown ?

(A) (B)
C) (D)
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34. IS B UHIeH T & TUILHT 1 FLIT L L& 8 | 3Hh gRI J&10 fophu S
I WEifes 3t & @1 wifaes Turgmt fY TR AT | 9 98 39 o U U
Teehl AIfSam gEISH HIEi-e fHaTar 8 a« 1 giaT 8 2 whis & Jaur fefu | 2

A student is studying the properties of acetic acid. List two physical

properties of acetic acid he observes. What happens when he adds a pinch
of sodium hydrogen carbonate to this acid ? Write any two observations.

35. I3 B A< U Hod gl Tcifieh I o i =aon ol T w@gs |
el G 3E W 2 | 98 WS § S $O @Al @ 39 I Wit (FHHAR)
3T | 9

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence).

36. I3 BE 80 cm T o 20 cm HIhE g o FohHl 3T oW & J&I 318 *
e TEdl § | fore ol @ @ gl 30 cm W 98 OF W gE AR 94 W
fors =1 Ao wlafers wTeq a1 2 | 96 W I Sidfers i gehRfd (3w, Hdl
foaf¥ia, Ster) Fam R 2 319 I I gfE & fou fereor s wifem | 2

A student places a 8:0 cm tall object perpendicular to the principal axis of

a convex lens of focal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magnified, diminished) of the image he obtains on a screen ? Draw ray

diagram to justify your answer.
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